Math 31 Name: /éj

. {3uiz: Chain Rule & Implicit Differentiation

1. Differentiate the following. Be sure to simplify.
a) y = (7x* +3)°
dy

J” = 5(7:17?3))/' g‘i(‘?f‘ﬂ)
€L X

if

S(7x 43 (14

= 70 (73
5]
B f{x) = 2x + 1)3(5x% + 4)
I (ae > G514 |
£'= 3ty (3> g = 10 (F3) "‘057“0?/
£l= b (2’

‘F '(15 = { (311’-[ >1-(5'1"+‘-f> + (;711-!)3(/0x§
—F‘(x):— 5)(91{4)& [3(5"17'1“—() + 51(311—!)7

"‘u}j__:xz l], z
‘F.()‘) = &[911—1)9‘(9517—1_5—1 1"/5?) 4’/9'0'#/01 + Sx



1. continued... Differentiate the following. Be sure to simplify.
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. 2. Giveng:c3 + 6x° — 8y? + 5y% = 5] j{;

a) Solve for %. Be sure to simplify.
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. 3. Differentiate the following. Be sure to simplify.
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O 4. Find y" in simplest form given x* + y* = 10
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